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GDS TO PM/MTS RAJSTHAN CIRCLE-2022 
(1.) Which of the following Post Offices do not exist in India? 

(A.) Head Post Offices (B.) Sub Post Office 
(C.) Branch Post Office (D.) JanDhan Post Offices 

(2.) Which of the following is not a Postal Holiday? 
(A.) Budh Purnima (B.) Mahavir Jayanthi 
(C.) Raksha Bandhan  (D.) Good Friday 

(3.) Which of the following is not a mode of payment of postage? 
(A.) Postage stamps (B.) Postal Stationary 
(C.) Franking of Letters (D.) Revenue Stamps 

(4.) Who issues license for the use of Franking Machines? 
(A.) Postmaster (B.) Head of Postal Division 
(C.) H.R.O (D.) Head of the Circle 

(5.) Every letter, packet or parcel has to be stamped with the date stamp at least how many Post Offices? 
(A.) 3 (B.) 2 (C.) 1 (D.) 4 

(6.) The manufacture and use of fictitious postage stamps for any purpose whatsoever is prohibited, is an 
offence under which of the sections of Indian Penal Code? 
(A.) Section 406-A (B.) Section307-A 
(C.) Section 302-A (D.) Section 263-A 

(7.) Letters or other articles intended to be registered or insured, must be presented at the Post Office at least 
how much time before the time fixed for the closing of any particular mail? 
(A.) Fifteen Minutes (B.) Half an hour 
(C.) One hour (D.) No fixed time 

(8.) Where should stamps be affixed on the address side of a letter or packet? 
(A.) Right hand top corner (B.) Left hand top corner 
(C.) Right hand Bottom corner (D.) Any where 

(9.) The sender of a postal article posted In India may have it withdrawn from the post or have its address 
altered subject to which of the following? 
(A.) The article has not been delivered. 
(B.) The article has not been destroyed. 
(C.) The article has not been seized. 
(D.) All of these 

(10.) A registered article can be detained in the Post Office for how many days if the addressee is not at the 
address? 
(A.) 3 days (B.) 4 days (C.) 7 days (D.) 15 days 

(11.) What is the fee for recall of a postal article? 
(A.) Rs.5 (B.) Rs.6 (C.) RS.10 (D.) Rs.15 

(12.) What is the maximum weight of a book packet? O 
(A.) 2 Kg (B.) 4 Kg (C.) 5 Kg (D.) 10 Kg 
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(13.) What is the maximum weight of a registered parcel booked in a Branch Post Office? 
(A.) 5 Kg (B.) 8 Kg (C.) 10 Kg (D.) 25 Kg 

(14.) What is the highest denomination of an Indian Postal Order (IPO)? 
(A.) Rs.10 (B.) Rs.20 (C.) Rs.50 (D.) Rs.100 

(15.) The demurrage charge on Value Payable (VP) articles is recovered from addressee after how many days? 
(A.) 5 days (B.) 7 days (C.) 10 days (D.) 15 days 

(16.) The Impression of 'Frank' should consist of two Dies. One is 'Value Die'; what is the name of the other 
'Die'? 
(A.) Frank Die (B.) Red Die (C.) Free Die (D.) License Die 

(17.) What is the fee for acknowledgement of registered article? 
(A.) Rs.1 (B.) RS.3 
(C.) Rs.5 (D.) No fee is payable 

(18.) What is the maximum weight of a blind literature packet? 
(A.) 5 Kg (B.) 7 Kg (C.) 8 Kg (D.) 10 Kg 

(19.) In which of the following cases registration is compulsory? 
(A.) Any parcel exceeding 4 Kg in weight 
(B.) Any insured article 
(C.) Any value-payable article 
(D.) All of these 

(20.) What is the quarterly rent of a Post Box or a Post Bag? 
(A.) Rs.50 (B.) Rs.70 (C.) Rs.80 (D.) Rs.100 

(21.) What is the maximum limit of sum assured in Postal Life Insurance (PLI)? 
(A.) Rs.10Lakh (B.) Rs.20Lakh (C.) Rs.25Lakh (D.) Rs.50Lakh 

(22.) How many transactions through International Money Transfer Service (IMTS) can be received by a single 
beneficiary in a calendar year? 
(A.) 10 (B.) 20 (C.) 25 (D.) 30 

(23.) When is the license of "Business Reply Service renewed every year? 
(A.) In January (B.) In March 
(C.) In April (D.) In December 

(24.) Which of the following transcribes in English the address written in regional language on postal articles? 
(A.) Mail Office (B.) Head Post Office 
(C.) Sorting Office (D.) Transcription Centre 

(25.) Which of the following are travelling offices of the Railway Mail Service working on Railway or river 
steamer lines? 
(A.) Transit Sections (B.) Mail Motors 
(C.) Mail Office (D.) Moving Post Office 

(26.) 'D' section of the Postal directorate which does not deal with any bags but only deals with the 
correspondence relating to procurement and distribution of bags is known as what? 
(A.) Unit Bag Office (B.) District Bag Office 
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(C.) Circle Bag Office (D.) Central Bag Office 
(27.) The Trip from the Headquarters of the set towards its out-station is called as what? 

(A.) In-trip (B.) Out-trip 
(C.) Station-trip (D.) Headquarter-trip 

(28.) The record office situated at the Headquarters of RMS Division is known as which of the following? 
(A.) SRO (B.) HRO (C.) BRO (D.) PRO 

(29.) What is the full form of AMPC? 
(A.) A Mail Post Centre 
(B.) Automatic Mail Processing Centre 
(C.) Authorized Mail Posting Centre 
(D.) Aadhaar based Mail Processing Centre 

(30.) Which is the branch of RMs where closed bags are received and dispatched, sorting of letters is not done in 
this branch? 
(A.) RMO (B.) SMO (C.) TMO (D.) UMO 

(31.) Which of the following cities never experiences vertical rays of the sun during noon? 
(A.) Chennai (B.) Mangalore (C.) Mumbai (D.) New Delhi 

(32.) Where is India's permanent research station Dakshin Gangothri situated? 
(A.) Great Himalayas (B.) Indian Ocean 
(C.) Antartika (D.) Arabian Sea 

(33.) When did Constituent assembly adopt National Anthem? 
(A.) 20 January 1950 (B.) 24 January 1950 
(C.) 21 May 1949 (D.) 13 November 1949 

(34.) Gandhi's fast in which jail led to the Poona pact on 20 September 1932? 
(A.) Pune Jail (B.) Bombay Jail 
(C.) Yerwada Jail (D.) Nagpur Jail 

(35.) The famous artist 'Bismillah Khan' was associated with which of the following? 
(A.) Guitar (B.) Shehnai (C.) Tabla (D.) Flute 

(36.) How many Fundamental rights have been provided by the Constitution of India? 
(A.) Eight (B.) Nine (C.) Five (D.) Six 

(37.) You can get in trouble for lying and cheating others if you don't have which of the following? 
(A.) Communication (B.) Co operation 
(C.) Honesty (D.) Respect 

(38.) A written statement of policies and principles that guides thebehaviour of all employees is called as what? 
(A.) Code of ethics (B.) Word of Ethics 
(C.) Ethical Dilemma (D.) Ethical Diplomacy 

(39.) Fire Temple is the place of worship of which of the following religions? 
(A.) Taoism (B.) Shintoism 
(C.) Judaism (D.) Zoroastrianism 

(40.) When was Reserve Bank of India established? 
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(A.) 1st April, 1947 (B.) 1st April, 1952 
(C.) 1st April, 1935 (D.) 1st April 1937 

(41.) (9612)+ 14 x (12+8)   2 =? 
(A.) 145 (B.) 146 (C.) 147 (D.) 148 

(42.) The price of milk was first Increased by 10% and then decreased by 20%. What is the net percentage 
change in final price of milk? 
(A.) 7.5% (B.) 10% (C.) 12% (D.) 15% 

(43.) Juhi sells a washing machine for Rs.13500 at a loss of 20%. What was the price at which she bought it? 
(A.) Rs.14875 (B.) Rs.16875 (C.) Rs.12875 (D.) Rs.15875 

(44.) What will be the selling price, if cost price is Rs.120 and gain is 35%? 
(A.) Rs.135 (B.) Rs.85 (C.) Rs.155 (D.) Rs.162 

(45.) An article costs Rs.600. what should be the marked price of the article so that after 10% discount, the trader 
makes 20% profit? 
(A.) Rs.800 (B.) Rs.950 (C.) Rs.1100 (D.) Rs.1040 

(46.) How much time will it take for an amount of Rs.450 to yield Rs.81 as interest at rate of 4.5% per annum of 
simple interest? 
(A.) 3.5 years (B.) 4 years (C.) 4.5 years (D.) 5 years 

(47.) The average of marks of four subjects is 120. If 33was misread as 13 during the calculation, what will be 
the correct average? 
(A.) 122 (B.) 125 (C.) 127 (D.) 129 

(48.) A takes twice as much time as B or thrice as much time as C to finish a piece of work. Working together 
they can finish the work in 2 days. Working alone in how many days B can finish the same work? 
(A.) 4 days (B.) 6 days (C.) 8 days (D.) 12 days 

(49.) Amit covers a distance at a speed of 24 km/hr in 6 minutes. If wants to cover the same distance in 8 
minutes, what should be his speed? 
(A.) 18 km/hr (B.) 21 km/hr (C.) 30 km/hr (D.) 15 km/hr 

(50.) If 12 men get Rs.4200 for 30 days as their wages, what will be the wages of 18 men for 24 days? 
(A.) Rs.5000 (B.) Rs.4650 (C.) Rs.4040 (D.) Rs.5040 
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GDS TO PM/MTS RAJSTHAN CIRCLE-2022 KEY 
ANSWER 

(1.) D (2.) C (3.) D (4.) B (5.) B 
(6.) D (7.) B (8.) A (9.) D (10.) C 
(11.) B (12.) C (13.) C (14.) D (15.) B 
(16.) D (17.) B (18.) B (19.) D (20.) A 
(21.) D (22.) D (23.) B (24.) D (25.) A 
(26.) D (27.) B (28.) B (29.) B (30.) C 
(31.) D (32.) C (33.) B (34.) C (35.) B 
(36.) D (37.) C (38.) A (39.) D (40.) C 
(41.) D (42.) C (43.) B (44.) D (45.) A 
(46.) B (47.) B (48.) B (49.) A (50.) D 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


